T2 EERXTREE (BE~—R)

SR2FEAA1IHPOST3HE3A31HET

(BAZ . THD
B E WA [EIRERYES oW
I —RIERBAEEBOER
1. RREHER O
(1) FEHEULE
O EXBEER#E 28, 383 28, 348 35
FEA A E S ORI B 28, 383 28, 348 35
Q@ BTEEEERK 323 323 0
R TE W S ORI, 323 323 0
@ FHEINE 1,591, 356 1, 500, 289 91,067
At B R FZER B 425, 695 411, 540 14, 155
NS B EAL R 101, 835 90, 310 11, 525
It H 3R B R 1,027, 969 978, 131 49, 838
I8 LR 31,910 16, 426 15, 484
N 4 2 FHCEHIA 3,947 3, 882 65
@ =ZHEBEE 92,338 110, 926 A 18,588
2 BV R A B 4 28, 924 28, 553 371
2 ] JEE A B 4 63,414 82, 373 A 18,959
® HINE 497 489 8
= URLE 1 1 0
HMEN AR 496 488 8
e 1,712,897 1, 640, 375 72, 522
(2) *w#EH
O =HxE 1,675, 900 1,603, 749 72,151
(1) NFEHE 237, 245 234, 165 3, 080
(2) FHEE 1, 438, 655 1, 369, 584 69, 071
b v 2 — R P 740, 910 719, 495 21, 415
B 364, 516 361, 188 3, 328
AbIE R v 2 — T 9, 655 8, 427 1,228
BTl Sy 289, 716 262, 165 27, 551
IV A 33, 858 18, 309 15, 549
Q EHEE 36, 997 36, 626 37
(1) NFEHE 32, 855 32,427 428
(2) FHHEHYE 4, 142 4,199 A 57
T HEE 1,712,897 1, 640, 375 72, 522
LR R R (A) 0 0 0
2. RRE IR O ER
(1) REIMNEE
AN A 0 0 0
(2) #RHEIEH
N R 0 0 0
LR E S MEREE (B) 0 0 0
LH— AR IE KB EEREE (C) = (A) +(B) 0 0 0
—fRIEREEHEERS (D) 33, 662 35, 951 A 2,289
—RRIECRBAEEARIRS (E)=(C)+ (D) 33, 662 35, 951 A 2,289
I EEEWRMEEBOR
O EAXBEERLK 28, 387 28, 352 35
FEA I PE 2 ORI, 28, 387 28, 352 35
Q@ —MREKBME~DIREEE A 28,383 A 28,348 A 35
— R IE BRI PE ~ D JRFREA A 28,383 A 28,348 A 35
L HAYE E IE KB EE B REE (F) 4 4 0
BEEKMHEHEES (G) 2,009, 329 2,009, 325 4
BEEKRMEHRES (H)=(F)+(G) 2,009, 333 2,009, 329 4
I ERMEHRRES (I)=(E)+(H) 2,042, 995 2,045, 280 A 2,285




